
DataSet 1
Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 0 3 0 7 5

Obs(Fem-Eng) Obse(Mal-Eng)

1 5 1 0

DataSet 2
Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 5 2 5 8 0

Obs(Fem-Eng) Obse(Mal-Eng)

2 0 1 0

DataSet 3

Problem a p(Lawyers) Obs(Lawyers) N

0.35 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 0 2 0 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0

DataSet 4

Problem a p(Lawyers) Obs(Lawyers) N

0.4 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 5 1 5 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 5
Problem a p(Lawyers) Obs(Lawyers) N

0.45 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 0 1 0 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0



DataSet 6
Problem a p(Lawyers) Obs(Lawyers) N

0.5 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 5 5 100

Obs(Fem-Eng) Obse(Mal-Eng)

4 0 1 0

DataSet 7

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0

DataSet 8

Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0

DataSet 9

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 4

Obs(Fem-Eng) Obse(Mal-Eng)

3 4 1 0

DataSet 1 0
Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 9

Obs(Fem-Eng) Obse(Mal-Eng)

3 9 1 0



DataSet 1 1
Problem a p(Lawyers) Obs(Lawyers) N

0.35 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 104

Obs(Fem-Eng) Obse(Mal-Eng)

4 4 1 0

DataSet 1 2

Problem a p(Lawyers) Obs(Lawyers) N

0.4 1 2 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 1 9 109

Obs(Fem-Eng) Obse(Mal-Eng)

4 9 1 0

DataSet 1 3

Problem a p(Lawyers) Obs(Lawyers) N

0.05 1 2 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 0 4 0 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0

DataSet 1 4
Problem a p(Lawyers) Obs(Lawyers) N

0.1 1 2 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 5 3 5 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 1 5

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 2 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 0 3 0 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0



DataSet 1 6
Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 2 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 7 3 3 8 6

Obs(Fem-Eng) Obse(Mal-Eng)

2 6 1 0

DataSet 1 7

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 2 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 2 2 8 9 1

Obs(Fem-Eng) Obse(Mal-Eng)

3 1 1 0

DataSet 1 8

Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 2 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 7 2 3 9 6

Obs(Fem-Eng) Obse(Mal-Eng)

3 6 1 0

DataSet 1 9
Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 2 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0

DataSet 2 0

Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 0 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0



DataSet 2 1

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 0 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 4

Obs(Fem-Eng) Obse(Mal-Eng)

3 4 1 0

DataSet 2 2
Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 0 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 9

Obs(Fem-Eng) Obse(Mal-Eng)

3 9 1 0

DataSet 2 3
Problem a p(Lawyers) Obs(Lawyers) N

0.35 1 0 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 104

Obs(Fem-Eng) Obse(Mal-Eng)

4 4 1 0

DataSet 2 4

Problem a p(Lawyers) Obs(Lawyers) N

0.4 1 0 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 1 9 109

Obs(Fem-Eng) Obse(Mal-Eng)

4 9 1 0

DataSet 2 5

Problem a p(Lawyers) Obs(Lawyers) N

0.45 1 0 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 0

Obs(Fem-Eng) Obse(Mal-Eng)

2 0 1 0



DataSet 2 6

Problem a p(Lawyers) Obs(Lawyers) N

0.5 1 0 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0

DataSet 2 7

Problem a p(Lawyers) Obs(Lawyers) N

0.55 1 0 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 2 8

Problem a p(Lawyers) Obs(Lawyers) N

0.6 1 5 3 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0

DataSet 2 9
Problem a p(Lawyers) Obs(Lawyers) N

0.65 1 5 3 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 100

Obs(Fem-Eng) Obse(Mal-Eng)

4 0 1 0

DataSet 3 0
Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 5 3 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0



DataSet 3 1
Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 5 3 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0

DataSet 3 2
Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 3 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 4

Obs(Fem-Eng) Obse(Mal-Eng)

3 4 1 0

DataSet 3 3

Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 5 3 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 9

Obs(Fem-Eng) Obse(Mal-Eng)

3 9 1 0

DataSet 3 4

Problem a p(Lawyers) Obs(Lawyers) N

0.35 1 5 3 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 104

Obs(Fem-Eng) Obse(Mal-Eng)

4 4 1 0

DataSet 3 5

Problem a p(Lawyers) Obs(Lawyers) N

0.4 1 5 3 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 1 9 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0



DataSet 3 6
Problem a p(Lawyers) Obs(Lawyers) N

0.05 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 0 4 0 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0

DataSet 3 7

Problem a p(Lawyers) Obs(Lawyers) N

0.1 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 5 3 5 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 3 8

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 0 3 0 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0

DataSet 3 9
Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 5 2 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 5 2 5 100

Obs(Fem-Eng) Obse(Mal-Eng)

4 0 1 0

DataSet 4 0
Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 2 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 0 2 0 9 6

Obs(Fem-Eng) Obse(Mal-Eng)

3 6 1 0



DataSet 4 1
Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 5 2 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 5 1 5 101

Obs(Fem-Eng) Obse(Mal-Eng)

4 1 1 0

DataSet 4 2

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 2 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0

DataSet 4 3
Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 2 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0

DataSet 4 4

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 4

Obs(Fem-Eng) Obse(Mal-Eng)

3 4 1 0

DataSet 4 5

Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 9

Obs(Fem-Eng) Obse(Mal-Eng)

3 9 1 0



DataSet 4 6
Problem a p(Lawyers) Obs(Lawyers) N

0.35 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 104

Obs(Fem-Eng) Obse(Mal-Eng)

4 4 1 0

DataSet 4 7

Problem a p(Lawyers) Obs(Lawyers) N

0.4 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 1 9 107

Obs(Fem-Eng) Obse(Mal-Eng)

4 7 1 0

DataSet 4 8

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 0 3 0 7 5

Obs(Fem-Eng) Obse(Mal-Eng)

1 5 1 0

DataSet 4 9
Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 5 2 5 8 0

Obs(Fem-Eng) Obse(Mal-Eng)

2 0 1 0

DataSet 5 0

Problem a p(Lawyers) Obs(Lawyers) N

0.35 1 2 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 0 2 0 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0



DataSet 5 1

Problem a p(Lawyers) Obs(Lawyers) N

0.4 1 2 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 5 1 5 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 5 2
Problem a p(Lawyers) Obs(Lawyers) N

0.45 1 2 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 0 1 0 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0

DataSet 5 3
Problem a p(Lawyers) Obs(Lawyers) N

0.5 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 5 5 100

Obs(Fem-Eng) Obse(Mal-Eng)

4 0 1 0

DataSet 5 4

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 2 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0

DataSet 5 5

Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0



DataSet 5 6

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 2 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 4

Obs(Fem-Eng) Obse(Mal-Eng)

3 4 1 0

DataSet 5 7

Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 2 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 9

Obs(Fem-Eng) Obse(Mal-Eng)

3 9 1 0

DataSet 5 8
Problem a p(Lawyers) Obs(Lawyers) N

0.35 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 104

Obs(Fem-Eng) Obse(Mal-Eng)

4 4 1 0

DataSet 5 9
Problem a p(Lawyers) Obs(Lawyers) N

0.4 1 2 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 1 9 9 6

Obs(Fem-Eng) Obse(Mal-Eng)

3 6 1 0

DataSet 6 0

Problem a p(Lawyers) Obs(Lawyers) N

0.05 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 0 4 0 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0



DataSet 6 1

Problem a p(Lawyers) Obs(Lawyers) N

0.1 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 5 3 5 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 6 2

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 0 3 0 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0

DataSet 6 3
Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 5 2 5 100

Obs(Fem-Eng) Obse(Mal-Eng)

4 0 1 0

DataSet 6 4
Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 0 2 0 105

Obs(Fem-Eng) Obse(Mal-Eng)

4 5 1 0

DataSet 6 5

Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 5 1 5 110

Obs(Fem-Eng) Obse(Mal-Eng)

5 0 1 0



DataSet 6 6

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0

DataSet 6 7
Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0

DataSet 6 8
Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 4

Obs(Fem-Eng) Obse(Mal-Eng)

3 4 1 0

DataSet 6 9
Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 9

Obs(Fem-Eng) Obse(Mal-Eng)

3 9 1 0

DataSet 7 0

Problem a p(Lawyers) Obs(Lawyers) N

0.35 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0



DataSet 7 1

Problem a p(Lawyers) Obs(Lawyers) N

0.4 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 1 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0

DataSet 7 2
Problem a p(Lawyers) Obs(Lawyers) N

0.45 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 0

Obs(Fem-Eng) Obse(Mal-Eng)

2 0 1 0

DataSet 7 3
Problem a p(Lawyers) Obs(Lawyers) N

0.5 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0

DataSet 7 4

Problem a p(Lawyers) Obs(Lawyers) N

0.55 2 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 4 3 6 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 7 5

Problem a p(Lawyers) Obs(Lawyers) N

0.6 2 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 9 3 1 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0



DataSet 7 6
Problem a p(Lawyers) Obs(Lawyers) N

0.65 2 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 4 2 6 100

Obs(Fem-Eng) Obse(Mal-Eng)

4 0 1 0

DataSet 7 7
Problem a p(Lawyers) Obs(Lawyers) N

0.15 8 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0

DataSet 7 8

Problem a p(Lawyers) Obs(Lawyers) N

0.2 8 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0

DataSet 7 9

Problem a p(Lawyers) Obs(Lawyers) N

0.25 8 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 8 1

Obs(Fem-Eng) Obse(Mal-Eng)

2 1 1 0

DataSet 8 0

Problem a p(Lawyers) Obs(Lawyers) N

0.3 8 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 8 6

Obs(Fem-Eng) Obse(Mal-Eng)

2 6 1 0



DataSet 8 1
Problem a p(Lawyers) Obs(Lawyers) N

0.35 8 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 9 1

Obs(Fem-Eng) Obse(Mal-Eng)

3 1 1 0

DataSet 8 2

Problem a p(Lawyers) Obs(Lawyers) N

0.4 1 8 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 1 9 9 6

Obs(Fem-Eng) Obse(Mal-Eng)

3 6 1 0

DataSet 8 3

Problem a p(Lawyers) Obs(Lawyers) N

0.05 1 8 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 0 4 0 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0

DataSet 8 4
Problem a p(Lawyers) Obs(Lawyers) N

0.1 1 8 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 5 3 5 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 8 5

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 5 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 0 3 0 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0



DataSet 8 6
Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 5 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 5 2 5 100

Obs(Fem-Eng) Obse(Mal-Eng)

4 0 1 0

DataSet 8 7

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 0 2 0 105

Obs(Fem-Eng) Obse(Mal-Eng)

4 5 1 0

DataSet 8 8

Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 8 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 5 1 5 110

Obs(Fem-Eng) Obse(Mal-Eng)

5 0 1 0

DataSet 8 9
Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 5 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0

DataSet 9 0

Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 8 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0



DataSet 9 1
Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 4

Obs(Fem-Eng) Obse(Mal-Eng)

3 4 1 0

DataSet 9 2

Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 5 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 9

Obs(Fem-Eng) Obse(Mal-Eng)

3 9 1 0

DataSet 9 3

Problem a p(Lawyers) Obs(Lawyers) N

0.35 3 0 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 3 3 7 8 7

Obs(Fem-Eng) Obse(Mal-Eng)

2 7 1 0

DataSet 9 4
Problem a p(Lawyers) Obs(Lawyers) N

0.4 3 0 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 8 3 2 9 2

Obs(Fem-Eng) Obse(Mal-Eng)

3 2 1 0

DataSet 9 5

Problem a p(Lawyers) Obs(Lawyers) N

0.05 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 0 4 0 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0



DataSet 9 6

Problem a p(Lawyers) Obs(Lawyers) N

0.1 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 5 3 5 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 9 7

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 0 3 0 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0

DataSet 9 8

Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 5 2 5 100

Obs(Fem-Eng) Obse(Mal-Eng)

4 0 1 0

DataSet 9 9
Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 2 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 0 2 0 105

Obs(Fem-Eng) Obse(Mal-Eng)

4 5 1 0

DataSet 1 0 0
Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 3 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 5 1 5 110

Obs(Fem-Eng) Obse(Mal-Eng)

5 0 1 0



DataSet 1 0 1

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 4 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0

DataSet 1 0 2

Problem a p(Lawyers) Obs(Lawyers) N

0.2 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0

DataSet 1 0 3

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 4

Obs(Fem-Eng) Obse(Mal-Eng)

3 4 1 0

DataSet 1 0 4
Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 6 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 9

Obs(Fem-Eng) Obse(Mal-Eng)

3 9 1 0

DataSet 1 0 5
Problem a p(Lawyers) Obs(Lawyers) N

0.35 2 2 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 104

Obs(Fem-Eng) Obse(Mal-Eng)

4 4 1 0



DataSet 1 0 6
Problem a p(Lawyers) Obs(Lawyers) N

0.4 2 2 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 1 9 7 6

Obs(Fem-Eng) Obse(Mal-Eng)

1 6 1 0

DataSet 1 0 7
Problem a p(Lawyers) Obs(Lawyers) N

0.45 2 2 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 0

Obs(Fem-Eng) Obse(Mal-Eng)

2 0 1 0

DataSet 1 0 8

Problem a p(Lawyers) Obs(Lawyers) N

0.5 3 0 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0

DataSet 1 0 9

Problem a p(Lawyers) Obs(Lawyers) N

0.55 2 2 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 1 1 0

Problem a p(Lawyers) Obs(Lawyers) N

0.6 3 0 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0



DataSet 1 1 1

Problem a p(Lawyers) Obs(Lawyers) N

0.65 2 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 100

Obs(Fem-Eng) Obse(Mal-Eng)

4 0 1 0

DataSet 1 1 2

Problem a p(Lawyers) Obs(Lawyers) N

0.15 2 3 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0

DataSet 1 1 3

Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 0 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0

DataSet 1 1 4
Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 1 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 4

Obs(Fem-Eng) Obse(Mal-Eng)

3 4 1 0

DataSet 1 1 5
Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 5 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 9

Obs(Fem-Eng) Obse(Mal-Eng)

3 9 1 0



DataSet 1 1 6
Problem a p(Lawyers) Obs(Lawyers) N

0.35 1 5 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 104

Obs(Fem-Eng) Obse(Mal-Eng)

4 4 1 0

DataSet 1 1 7

Problem a p(Lawyers) Obs(Lawyers) N

0.4 1 5 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 1 9 109

Obs(Fem-Eng) Obse(Mal-Eng)

4 9 1 0

DataSet 1 1 8

Problem a p(Lawyers) Obs(Lawyers) N

0.05 1 6 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 0 4 0 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0

DataSet 1 1 9
Problem a p(Lawyers) Obs(Lawyers) N

0.1 7 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 5 3 5 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 1 2 0

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 5 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 0 3 0 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0



DataSet 1 2 1
Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 5 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 5 2 5 100

Obs(Fem-Eng) Obse(Mal-Eng)

4 0 1 0

DataSet 1 2 2

Problem a p(Lawyers) Obs(Lawyers) N

0.25 7 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 0 2 0 105

Obs(Fem-Eng) Obse(Mal-Eng)

4 5 1 0

DataSet 1 2 3
Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 8 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 5 1 5 8 3

Obs(Fem-Eng) Obse(Mal-Eng)

2 3 1 0

DataSet 1 2 4

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 8 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0

DataSet 1 2 5

Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 8 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0



DataSet 1 2 6

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 8 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 4

Obs(Fem-Eng) Obse(Mal-Eng)

3 4 1 0

DataSet 1 2 7

Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 8 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 9

Obs(Fem-Eng) Obse(Mal-Eng)

3 9 1 0

DataSet 1 2 8
Problem a p(Lawyers) Obs(Lawyers) N

0.35 2 6 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 7 7

Obs(Fem-Eng) Obse(Mal-Eng)

1 7 1 0

DataSet 1 2 9

Problem a p(Lawyers) Obs(Lawyers) N

0.4 2 6 5 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 1 9 8 2

Obs(Fem-Eng) Obse(Mal-Eng)

2 2 1 0

DataSet 1 3 0
Problem a p(Lawyers) Obs(Lawyers) N

0.45 2 6 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 6 4 8 7

Obs(Fem-Eng) Obse(Mal-Eng)

2 7 1 0



DataSet 1 3 1

Problem a p(Lawyers) Obs(Lawyers) N

0.5 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 2 2 8 9 2

Obs(Fem-Eng) Obse(Mal-Eng)

3 2 1 0

DataSet 1 3 2

Problem a p(Lawyers) Obs(Lawyers) N

0.55 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 7 2 3 9 7

Obs(Fem-Eng) Obse(Mal-Eng)

3 7 1 0

DataSet 1 3 3
Problem a p(Lawyers) Obs(Lawyers) N

0.6 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 2 1 8 102

Obs(Fem-Eng) Obse(Mal-Eng)

4 2 1 0

DataSet 1 3 4
Problem a p(Lawyers) Obs(Lawyers) N

0.05 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 0 4 0 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0

DataSet 1 3 5
Problem a p(Lawyers) Obs(Lawyers) N

0.1 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 5 3 5 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0



DataSet 1 3 6
Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 0 3 0 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0

DataSet 1 3 7
Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 5 2 5 100

Obs(Fem-Eng) Obse(Mal-Eng)

4 0 1 0

DataSet 1 3 8

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 0 2 0 105

Obs(Fem-Eng) Obse(Mal-Eng)

4 5 1 0

DataSet 1 3 9

Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 5 1 5 110

Obs(Fem-Eng) Obse(Mal-Eng)

5 0 1 0

DataSet 1 4 0

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0



DataSet 1 4 1

Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0

DataSet 1 4 2

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 4

Obs(Fem-Eng) Obse(Mal-Eng)

3 4 1 0

DataSet 1 4 3

Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 9

Obs(Fem-Eng) Obse(Mal-Eng)

3 9 1 0

DataSet 1 4 4
Problem a p(Lawyers) Obs(Lawyers) N

0.35 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 104

Obs(Fem-Eng) Obse(Mal-Eng)

4 4 1 0

DataSet 1 4 5
Problem a p(Lawyers) Obs(Lawyers) N

0.4 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 4 3 6 7 0

Obs(Fem-Eng) Obse(Mal-Eng)

1 0 1 0



DataSet 1 4 6
Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 0 3 0 7 5

Obs(Fem-Eng) Obse(Mal-Eng)

1 5 1 0

DataSet 1 4 7
Problem a p(Lawyers) Obs(Lawyers) N

0.05 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 5 2 5 8 0

Obs(Fem-Eng) Obse(Mal-Eng)

2 0 1 0

DataSet 1 4 8

Problem a p(Lawyers) Obs(Lawyers) N

0.1 1 5 4 0

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 0 2 0 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0

DataSet 1 4 9
Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 1 5 0

Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0



DataSet 1 5 1
Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 100

Obs(Fem-Eng) Obse(Mal-Eng)

4 0 1 0

DataSet 1 5 2

Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 5 2 5 105

Obs(Fem-Eng) Obse(Mal-Eng)

4 5 1 0

DataSet 1 5 3

Problem a p(Lawyers) Obs(Lawyers) N

0.35 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 7 3 3 110

Obs(Fem-Eng) Obse(Mal-Eng)

5 0 1 0

DataSet 1 5 4
Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0

DataSet 1 5 5

Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0



DataSet 1 5 6

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 4

Obs(Fem-Eng) Obse(Mal-Eng)

3 4 1 0

DataSet 1 5 7
Problem a p(Lawyers) Obs(Lawyers) N

0.45 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 9

Obs(Fem-Eng) Obse(Mal-Eng)

3 9 1 0

DataSet 1 5 8
Problem a p(Lawyers) Obs(Lawyers) N

0.5 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 104

Obs(Fem-Eng) Obse(Mal-Eng)

4 4 1 0

DataSet 1 5 9

Problem a p(Lawyers) Obs(Lawyers) N

0.55 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 1 9 109

Obs(Fem-Eng) Obse(Mal-Eng)

4 9 1 0

DataSet 1 6 0
Problem a p(Lawyers) Obs(Lawyers) N

0.05 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 0 4 0 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0



DataSet 1 6 1

Problem a p(Lawyers) Obs(Lawyers) N

0.1 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 5 3 5 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 1 6 2
Problem a p(Lawyers) Obs(Lawyers) N

0.1 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 0 3 0 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0

DataSet 1 6 3

Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 5 2 5 100

Obs(Fem-Eng) Obse(Mal-Eng)

4 0 1 0

DataSet 1 6 4
Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 0 2 0 105

Obs(Fem-Eng) Obse(Mal-Eng)

4 5 1 0

DataSet 1 6 5

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 5 1 5 110

Obs(Fem-Eng) Obse(Mal-Eng)

5 0 1 0



DataSet 1 6 6
Problem a p(Lawyers) Obs(Lawyers) N

0.15 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 4

Obs(Fem-Eng) Obse(Mal-Eng)

2 4 1 0

DataSet 1 6 7
Problem a p(Lawyers) Obs(Lawyers) N

0.2 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 9

Obs(Fem-Eng) Obse(Mal-Eng)

2 9 1 0

DataSet 1 6 8

Problem a p(Lawyers) Obs(Lawyers) N

0.25 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 4

Obs(Fem-Eng) Obse(Mal-Eng)

3 4 1 0

DataSet 1 6 9

Problem a p(Lawyers) Obs(Lawyers) N

0.3 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 9

Obs(Fem-Eng) Obse(Mal-Eng)

3 9 1 0

DataSet 1 7 0

Problem a p(Lawyers) Obs(Lawyers) N

0.35 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 6 1 4 104

Obs(Fem-Eng) Obse(Mal-Eng)

4 4 1 0



DataSet 1 7 1

Problem a p(Lawyers) Obs(Lawyers) N

0.4 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

4 1 9 109

Obs(Fem-Eng) Obse(Mal-Eng)

4 9 1 0

DataSet 1 7 2
Problem a p(Lawyers) Obs(Lawyers) N

0.45 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

1 6 3 4 8 0

Obs(Fem-Eng) Obse(Mal-Eng)

2 0 1 0

DataSet 1 7 3

Problem a p(Lawyers) Obs(Lawyers) N

0.5 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 1 2 9 8 5

Obs(Fem-Eng) Obse(Mal-Eng)

2 5 1 0

DataSet 1 7 4
Problem a p(Lawyers) Obs(Lawyers) N

0.55 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

2 6 2 4 9 0

Obs(Fem-Eng) Obse(Mal-Eng)

3 0 1 0

DataSet 1 7 5
Problem a p(Lawyers) Obs(Lawyers) N

0.6 1 5 3 5

Problem b Obs(Fem-Law) Obs(Mal-Law) N

3 1 1 9 9 5

Obs(Fem-Eng) Obse(Mal-Eng)

3 5 1 0




